332

oooooooog

10H-2

O0@320¢ 250000
00000000000

eJJ000OOOOOOODOOODOOOOOOO
ooomomoooooooboooooouno
ooooooooooo

oooobogoboo

goooooon

gooooo

0 n] 0oooooooo

000000 mm ¢ 320 40ip 50 lp 631 80 tp 1001 125t 140 160 1p 180ip 2001 250

0 0 0 0 0 0 1MPa

0 0 0 1.5MPa

0O 0 0 0O 0 O 0.1MPa

0 0 0 0 0 0 80 300mmO s

0O 0 0 0 0O O j1o00080I000000000D 00000000

0 0 0 o 0ooooo0ooooooooo

0000O0O0aQ0 oooo

O 0 0 o JIS 6g/6H

ooooooooooag 250mm0 0 8§ 2510 1000mmEgH 10010 2000mm{ &8

O 0 0 o SDO LBO FAO FBO CA CBO CCO CDO TAO TC
ooooao 0oooooo0oo000ooooooo0oooooooooog

ooooD |0D0O0O0 10 TO 100000 0 SO 200 YO [0 00OFI000m FO O
0O 0 O CB/CDOOOOOOOTATCOODOOO

O0e0d00000DDOOO0ODDOOOOSOMM/sOOOOOOOOO0O
OOe0d0O0O0O0O0O0OODDDOOOOOOOOODO

ooooooooooo

Oo00mm

oooooo 00000000000
032 0 800

940 01200

©501p 63 01400
©801p100 0 1800
91251 1401 160 0 2000
180k 200t 250

goo0oO0o0oO0o0oO0o0o0o0000o000o000o0o00
goooooOoooO0oo0o0oO0ooOoOoOO0oOOoooo

oooo

10H-2

OO00mm

ooood ®32 @40 @50 @63 @80 @100 ¢ 125 ¢ 140 ¢ 160 ¢ 180 ¢ 200 ¢ 250

ooooooo
oo0ooo
oooo ooooOooo ooooooo Ww/O o/w
oooo 0oo0o0ooo 0oooooo ooo ooo
o o x o o

oo 00 Okg
oo loooo ooooo oooooo oooooo

1mmd000 10 10 20 FOO

mm [1SDOD| | LB | FA | FB | CA | €C | CB | €D | TA | TC gy pDvO0| 0o

¢32 1.23 |0.00251 | 0.19 | 0.18 | 0.24 | 0.12 0 0.12 O 0.05 | 0.30 | 0.08 | 0.16 | 0.22 | 0.10
®40 1.68 |0.00338 | 0.23 | 0.25 | 0.32| 0.18 0 0.15 O 0.19 | 048 | 0.11 | 0.16 | 0.34 | 0.10
¢50 2.67 |0.00534| 0.36 | 0.40 | 0.50 | 0.26 0 0.30 [} 0.19 | 055| 0.20 | 0.21 | 0.41 | 0.38
963 4.04 |0.00638 | 0.46 | 0.55| 0.65 | 0.42 0 0.39 O 0.19 | 0.70 | 0.20 | 0.21 | 0.41 | 0.38
¢80 7.84 |0.00916 | 0.86 | 1.38 | 1.59 | 1.08 O 0.80 O 0.19 116 | 0.36 | 0.62 | 1.06 | 0.72
¢100| 11.63 |0.00984 | 1.12 | 1.99 | 2.20 | 1.39 0 1.05 [} 0.19 153 | 0.36 | 0.62 | 1.06 | 1.30
¢125| 16.11 |0.0154 | 2.0 258 | 258 | 0.57 259 | 0.76 | 2.86 | 0.19 278 | O 1.24 | 147 | 2.47
©140| 24.63 |0.0223 | 283 | 438 | 438 | 094 | 505| 1.72 | 569 | 057 | 490 | O 240 | 3.32 | 430
¢160| 30.56 |0.0232 | 3.22 | 548 | 548 | 1.35 6.18 | 1.82 | 6.73 | 0.57 590 | O 240 | 332 | 430
®180| 40.52 |0.0535 | 569 | 7.22 | 7.22 | 1.25 9.04 | 1.72 | 9.73 | 0.57 619 | O 240 | 3.32 u}
®200| 46.72 |0.0493 | 6.12 | 830 | 830 | 1.25 |10.18 | 1.72 | 10.86 | 0.57 720 O 240 | 3.32 ]
¢250| 89.85 |0.0635 | 8.38 | 15.70 | 15.70 | 3.23 | 20.10 | 422 | 21.30 | 1.15 | 1240 | O 4.62 | 593 u}

000p00000Dkg@MO0D00MO00001lmmO0000000O0Ox000000000mmO000000000D0O00O000
0oo0pioHO30OOe630000000000200mmOLB

000 04.0411 0.00638x 20011 0.4605.776kg

333

Ooooooooog



34 1OH_2 oooooooon gooooooo

gooooooooooooo - 0000 oood
0 @ [sbjoonO [cAlooo [TA]ooDoooooooo
" o o w1 ®
o000 (10H12 ) 1[LB] N [zoopin: iDio o} ! ? g
oooo (] 0000000oo (LB|jooooooO [ccloome 12509250000 [TC|looOoOoOoOoOn
0Nl DODO0OooD
0D000000mmO ? : b T oy
000 32040 50 63 800p 1000 I ® 9 ® i o ——Or—®
¢ 12579 14009 16079 180Jp 2009 250 CBOTAOTC ) '—":LJ:“—‘}
goooooooogdmmo
__ B0ooooomTo0 [FAlDODODDOOOOO [cB]cBMOOOOOO [
o Ooooooooooomyon 0
B O0oooooooooomsoo A B B
0 Doooooomroo @q & N & oD 0
O b ]
0 = i 0
] O
] O
0 [FBloODOODOOOO [CD] D000 Mg 1250¢ 250000 0

©

©
@

Dy

oooooooooooo

00007000000000000000DDOOOOOO ooo ooo

00000000000000D000000000000

00000sSbO000000000000N00noooon 932 LNAD 10ZO A

00000000000 000D00000000000D0 ©40 LNAD 12Z0 A

pgoooo0o0OoO0ooooooOoO0OoooooooOooo ©50163 LNAD 16Z0 A

000000000000000000000000 08019100 LNAD 2020 A
000070120100000000000000N0512000

9125 LNAD 2720 A

@ 14071p 160tp 1801 200 LNAD 3620 A

@250 LNAO 42O A




oooooooog

oooobogoboo

e 0000D@IOOIONCOOIO®

30000000000000000
00000000000@0000000000000@®O0000
00000000000000000000000000000000000

0o 10HO2 1CB80 N1000 oB0OJ
0| o

00 0000ABICD 000000ABOICIDOOO

e 000000000 DODONNONONDOODDNONNONONDNOODDONONNOND@AOCODDNND@®IODDN0N0N

ooooooon

e0OOODO
e0000IDOODDOOOO M WOWFOAKKO

MM e -——

KK

eTCOODOOODOOODOOODOPHO

Inauiil
fa=as

goooooon

J000dooo0oooooooaioonn OOON
oooo 000 MPad

e e T . 0.2 03 0.4 05 06

s L S o o o O ] O o o O ] o

032 | 12 804 | 691 | 161 | 138 241 | 207 | 322| 276 | 402 | 346 | 483 | 415

940 | 16 1257 | 1056 | 251 | =211 377 | 317 | 503 | 422 | 628 | 528 | 754 | 633

950 | 22 1964 | 1583 | 393 | 317 589 | 475 | 785 | 633 | 982 | 792 | 1178 | 950

063 | 22 3117 | 2737 | 623 | 547 035 | 821 | 1247 | 1005 | 1559 | 1369 | 1870 | 1642

980 | 25 5027 | 4536 | 1005 | 907 | 1508 | 1361 | 2011 | 1814 | 2513 | 2268 | 3016 | 2721

©100| 25 7854 | 7363 | 1571 | 1473 | 2356 | 2200 | 3142 | 2945 | 3927 | 3682 | 4712 | 4418

©125| 32 | 12272 | 11468 | 2454 | 2204 | 3682 | 3440 | 4909 | 4587 | 6136 | 5734 | 7363 | 688l

©140| 40 | 15394 | 14137 | 3079 | 2827 | 4618 | 4241 | 6158 | 5655 | 7697 | 7069 | 9236 | 8482

©160| 40 | 20106 | 18850 | 4021 | 3770 | 6032 | 5655 | 8042 | 7540 | 10053 | 9425 | 12064 | 11310

©180| 40 | 25447 | 24190 | 5089 | 4838 | 7634 | 7257 | 10179 | 9676 | 12723 | 12095 | 15268 | 14514

©200| 40 | 31416 | 30159 | 6283 | 6032 | 9425 | 9048 | 12566 | 12064 | 15708 | 15080 | 18850 | 18096

©250| 45 | 49088 | 47497 | 9818 | 9499 | 14726 | 14249 | 19635 | 18999 | 24544 | 23749 | 29453 | 28498
oooo 000 MPaO

S o] ——- 07 0.8 0.9 1

et S o o o O 5] o o o O

032 | 12 804 | 691 | 563 | 484 | 643 | 553 | 724 | 622 | 804 | 691

040 | 16 1257 | 1056 | 880 | 739 | 1005 | 844 | 1131 | 950 | 1257 | 1056

950 | 22 1064 | 1583 | 1374 | 1108 | 1571 | 1267 | 1767 | 1425 | 1964 | 1583

063 | 22 3117 | 2737 | 2182 | 1916 | 2494 | 2190 | 2806 | 2463 | 3117 | 2737

980 | 25 5027 | 4536 | 3510 | 3175 | 4021 | 3620 | 4524 | 4082 | 5027 | 4536

9100| 25 7854 | 7363 | 5498 | 5154 | 6283 | 5801 | 7069 | 6627 | 7854 | 7363

©125| 32 | 12272 | 11468 | 8500 | 8027 | 9818 | 9174 | 11045 | 10321 | 12272 | 11468

©140| 40 | 15394 | 14137 | 10776 | 9896 | 12315 | 11310 | 13854 | 12723 | 15394 | 14137

©160| 40 | 20106 | 18850 | 14074 | 13195 | 16085 | 15080 | 18096 | 16965 | 20106 | 18850

©180| 40 | 25447 | 24100 | 17813 | 16933 | 20358 | 19352 | 22902 | 21771 | 25447 | 24190

©200| 40 | 31416 | 30159 | 21091 | 21112 | 25133 | 24127 | 28724 | 27143 | 31416 | 30159

©250| 45 | 49088 | 47497 | 34361 | 33248 | 39270 | 37998 | 44179 | 42747 | 49088 | 47497

e00IDONIIOOOOOmm2x 0000O0MPald

Ooooooooog



oooooooog

oooobogoboo

000mm
10H-201 SD[OO|N[DOOOO
®p 320 ¢ 100
Tée
: ]
EgEIRIED
B D zBOOO0OOO
2000000
A W, FpP POOODOD
20EE 40DD
i
4
nooo
| F J HODOOOO K
LF0D00000 BB
°p 1250 ¢ 250
, ’_H
| FEE
zB00DO0O0O
b —4 2000000
- A WF__YP POOOOOD
h | V| 20EE 400D
A
© ©
© | 9
® /\ 3®MMI A D
@ ® Ve
e 7 9
ooooo
O © oooooo &
Q@) <}/ 0o0B: =4
©
RE KK oooo
RR J HOOoOooad K
E |.oos LLoooooo |BB

goooooon

O00mm
god
oo
A B B1 BB D DD E EE F FP H h J

oo
¢ 32 22 | 924 | 17 7 10 | OM6éx 1 044 | Rchs | 10 34 30 6 38
@ 40 24 | 930 19 7 13 O Méx 1 050 | Rcha | 10 34 30 7 38
¢ 50 32 | ¢34 | 22 7 19 | OMéx 1 062 | Rchsa | 10 34 30 10 38
¢ 63 32 | ¢34 | 22 9 19 | OM8x 125 |O76 |Rc¥s | 10 34 33 10 38
¢ 80 40 | @39 | 27 10 22 | OM10x 1.25 | 094 |Rc¥s | 16 43 31 12 45
¢ 100 40 | 939 | 27 10 22 | OM10x 1.25 | 0114 | Rch2 | 16 43 31 12 45
¢ 125 54 | 946 | 36 13 27 | OM12x 15 |0138 | Rch2 | O O 37 16 45
¢ 140 72 | 955 | 50 16 36 | OM16x 1.5 |0156 | Rcda | O O 43 20 50
¢ 160 72 | 955 | 50 16 36 | OM16x 1.5 | 0178 | Rcda | O 0 43 20 50
¢ 180 72 | 955 | 50 16 36 | OM16x 1.5 | 0200 | Rcda | O O 43 20 50
¢ 200 72 | 955 | 50 16 36 | OM16x 1.5 |0216 | Rc3a | O O 43 20 50
¢ 250 84 | 960 | 60 19 41 | OM20x 15 |0270| Rc 1| O 0 55 22 57

oo

0o K KK LF LL | MM P RE | RR | VF W | WF | YP | ZB 2]
¢ 32 25 M10x 1.25 | 103 O @12 | 58 | O |O33 | O 15 O O 125 | 118
¢ 40 25 Mi12x 1.25 | 103 0 @16 | 58 | O |037 | O 15 ] 0 125 | 118
¢ 50 25 M16x 1.5 103 O @22 | 58 | O |047 | O 15 O O 125 | 118
¢ 63 25 M16x 1.5 106 O @22 | 61 | O |O56 | O 15 ] O 130 | 121
¢ 80 32 M20x 1.5 124 | O @25 | 67 o |o7 | O 19 O 0 153 | 143
¢ 100 32 M20x 1.5 124 | O @25 | 67 | O |O84 | O 19 ] O 153 | 143
¢ 125 32 M27x 2 O 114 | 32 | 73 | 065 0104 21 o 35 27 162 | 149
¢ 140 38 M36x 2 0 131 | @40 | 85 |O76 [0123| 25 } 41 29 | 188 | 172
¢ 160 38 M36x 2 0 131 | @40 | 85 |O76 |0134| 25 u} 41 29 188 | 172
¢ 180 38 M36x 2 O 131 | @40 | 85 |O76 |O0156| 25 ] 41 29 | 188 | 172
¢ 200 38 M36x 2 0 131 | @40 | 85 |O76 |[0163| 25 m} 41 29 188 | 172
@ 250 50 M42x 2 O 162 | @45 | 109 | 090 |0202| 30 [} 48 30 | 229 | 210

oboooooooooooooo

o DDO O
0 0

®80 M10x 1.5 M10x 1.25
@100 M10x 1.5 M10x 1.25
0125 M12x 1.75 M12x 1.5
®140 M16x 2 M16x 1.5
¢ 160 M16x 2 M16x 1.5
©180 M16x 2 Mi16x 1.5
©200 M16x 2 M16x 1.5
©250 M20x 2.5 M20x 1.5

O0OOO07000000000O0DDODOODDOOOOOO

Ooo000bO0OO0O0o0O0O000DODOO0OO0O0OOOO0OO0O0D0
OoooOooosbOoO0O0O0OD0DOO0ODOODOODOOD
Ooo000bO0OO0O0o0O0O000DODOO0OO0O0OOOO0OO0O0D0

Ooo000bO0OO0O0o0O0O000DODOO0OO0O0OOOO0OO0O0D0
Ooo000bO0OO0O0o0O0O000DODOO0OO0O0OOOO0OO0O0D0
oooo

0070120100000000000000No512000

Ooooooooog



oooooooog

oooobogoboo

000mm
10H-201 LB[OO]N[ODOOOO]
° 320 ¢ 100
B T~ b XADOOOOO
| 2000000
A lw,_ FP POOODOD
ooz h 20EE
& |
® 10 &1 2
oA {E)-do w & S
AE
O Q A
m (@ T @ f B
s : | |
f ©
R \4oag KK oooo
UA AL F J HOOOoOooo K AL
| [Y\alsls]slsls] Q|
® 1250 ¢ 250
’_‘J
o 1
B ] D XADDOO000
: —4 z)00000o
e | 008 A | WF_YP POOOOOD
RE h | Ve 20EE
®
@ [ @\ \1,' \_,"‘3
® | ©
AE D 8® MM - ‘ :
oo h an
AH|
W@ © bl
4128/ R oooo
UA AL J HOOOODO K | AL

sAD00000

000 mm Oooooooon 1OH_2
ooo
0o

- A | AB | AE | AH | AL [AO | AT | B | BL | D E |EE| F | FP | H h
932 22 |99 55 | 33| 23 | 10 5 |@24| 17 | 10 [044 [Rels| 10 | 34 | 30 6
® 40 24 |12 | 60| 35| 25 | 12 5 |¢30| 19 | 13 |050 |Rcha| 10 | 34 | 30 7
950 32 |g12 | 72| 41| 26 | 12 6 |@34| 22 | 19 |062 |Rcha| 10 | 34 | 30 | 10
963 32 |g12 | 8 | 48 | 28 | 12 6 |@34| 22 | 19 |076 |Rc¥8| 10 | 34 | 33 | 10
¢80 4 |¢14 | 106 | 59 | 34 | 14 8 | 939 27 | 22 |09 |Rc¥8| 16 | 43 | 31 | 12
©100 | 40 |@14 | 123 | 66 | 34 | 14 8 | @39 | 27 | 22 |D114|Rch2| 16 | 43 | 31 | 12
9125 | 54 |@18 | 148 | 79 | 43 | 18 | 10 | @46 | 36 | 27 |0138|Rchz2| O a] 37 | 16
9140 | 72 |@22 | 171 | 93 | 50 | 22 | 10 | @55 | 50 | 36 |0 156|Rc34| O a] 43 | 20
9160 | 72 |@22 | 187 | 98 | 50 | 22 | 10 |@55| 50 | 36 |0 178|Rc¥4| O u] 43 | 20
9180 | 72 |p22 | 215 | 115 | 55 | 22 | 15 | @55 | 50 | 36 |0 200|Rc¥4| O u] 43 | 20
9200 | 72 |@22 | 226 | 118 | 55 | 22 | 15 | @55 | 50 | 36 |0 216|Rc34| O a] 43 | 20
9250 | 84 |p26 | 276 | 141 | 60 | 24 | 15 | @60 | 60 | 41 |D270|Rc 1| O o 55 | 22

0o

- J K KK MM | P R |[RE|SA|UA|VF| W |WF | XA | YP | 23
932 38 | 25 | MI0x125 |@12| 58 | 33| O |149 | 54| O 15 | O |141] O | 118
@ 40 38 | 25 | M12x 125 |@16| 58 | 37 | O | 153 | 60 | O 15 | O | 143 | O | 118
¢ 50 38 | 25 | M16x15 |@22| 58| 47| O |155 | 70| O 15 | O | 144 | O | 118
¢ 63 38 | 25 | M16x15 |@22| 61| 5 | O |162 | 80 | O 15 | O |149 | O | 121
¢ 80 45 | 32 | M20x15 |@25| 67 | 70| O | 192 | 97 | O 19 | O |177 | O | 143
@100 | 45 | 32 | M20x15 |@25| 67 | 84 | O | 192 | 114 | O 19 | O |177 | O | 143
0125 | 45 | 32 | M27x 2 ©32| 73| 104 |O65| 200 | 138 | 21 | O | 35 | 192 | 27 | 149
140 | 50 | 38 | M36x 2 @40 | 85 | 123 |O76| 231 | 156 | 25 | O | 41 | 222 | 29 | 172
@160 | 50 | 38 | M36x 2 ©40| 85 | 134 |O76| 231 | 178 | 25 | O | 41 | 222 | 29 | 172
180 | 50 | 38 | M36x 2 ©40| 85 | 156 |O76| 241 | 200 | 25 | O | 41 | 227 | 29 | 172
200 | 50 | 38 | M36x 2 ©40 | 85 | 163 |O76| 241 | 216 | 25 | O | 41 | 227 | 29 | 172
©250 | 57 | 50 | M42x 2 ©45| 109 | 202 |090| 282 | 270 | 30 | O | 48 | 270 | 30 | 210

341

Ooooooooog



342

oooooooog

10H-2

oooobogoboo

000mm

10H-201 FA[DOJN

® 320 ¢ 100

ZBOOOOOO

2000000

YP

POOOOOO

20EE

EF| R

©

o T

oooo
HOOOOOOo

LFOOO0000

BB

® 1250 ¢ 250

zBOOOOOO

Z2)0oooog

0os A WF

YP

POOOOOO

® 40AB

20EE

EF| R

jauis)

o)

ko)

o
m

oooo
HOOOOOO

LFOOO0O0O00

BB

000 mm Oooooooon 1OH_2
ooo
0o
A B Bi | BB D E EE | EF F FB H h J K

0o
932 22 | 924 | 17 7 10 | 044 | Rchs| 47 | 10 | @7 | 30 6 38 25
@ 40 24 | 930 | 19 7 13 | 050 | Rclla| 52 | 10 | @7 | 30 7 38 25
¢ 50 32 | @34 | 22 7 19 | 062 | RcHa| 65 | 10 | @9 | 30 10 38 25
963 32 | 934 | 22 9 19 | 076 | Rc¥s| 76 | 10 | @9 | 33 10 38 25
¢80 40 | ¢39 | 27 10 22 | 094 | Rc¥8| 95 | 16 | 912 | 31 12 45 32
100 | 40 | @39 | 27 10 | 22 | 0114/ Rchz| 115 | 16 | 912 | 31 12 45 32
9125 | 54 | @46 | 36 13 27 | 0138 Rch2| 138 | 16 | @14 | 37 16 45 32
©140 | 72 | ¢55 | 50 16 36 | 0156| Rc¥a| 156 | 20 | @18 | 43 20 50 38
9160 | 72 | @55 | 50 16 36 | 0178 Rc¥4| 178 | 20 | @18 | 43 20 50 38
9180 | 72 | @55 | 50 16 36 | 0200| Rc¥l4| 200 | 20 | @18 | 43 20 50 38
©200 | 72 | @55 | 50 16 36 | 0216| Rc¥l4| 216 | 20 | @18 | 43 20 50 38
9250 | 84 | @60 | 60 19 | 41 | 0270/ Rc 1| 270 | 25 | 922 | 55 22 57 50

oo

- KK LF | MM p R RE | TF | UF W | WF | YP | ZB | 23
932 M10x 125 | 103 | ¢ 12 | 58 33 | O 58 72 | 15 25 24 | 125 | 118
9 40 M12x 125 | 103 | ¢ 16 | 58 36 | O 70 84 | 15 25 24 | 125 | 118
950 M16x 1.5 103 | ¢ 22| 58 47 | O 86 | 104 | 15 25 24 | 125 | 118
963 M16x 1.5 106 | ¢ 22 | 61 56 | O 98 | 116 | 15 25 24 | 130 | 121
¢80 M20x 1.5 124 | ¢ 25 | 67 70 | O 119 | 143 | 19 35 27 | 153 | 143
100 | M20x 15 124 | ¢ 25 | 67 84 | O 138 | 162 | 19 35 27 | 153 | 143
9125 | M27x 2 130 | ¢ 32| 73 | 104 |0 65| 168 | 196 | 19 35 27 | 162 | 149
©140 | M36x 2 151 | 940 | 85 | 123 [0 76 | 190 | 226 | 21 41 29 | 188 | 172
9160 | M36x 2 151 | 940 | 85 | 134 [O 76 | 212 | 248 | 21 a1 29 | 188 | 172
©180 | M36x 2 151 | 940 | 85 | 156 |0 76 | 234 | 270 | 21 a1 29 | 188 | 172
®200 | M36x 2 151 | ¢ 40 | 85 | 163 [0 76 | 250 | 286 | 21 41 29 | 188 | 172
9250 | M42x 2 187 | ¢ 45 | 109 | 201 [oD 90 | 312 | 356 | 23 48 30 | 229 | 210

343

Ooooooooog



344

oooooooog

10H-2

oooobogoboo

goooooon

O00mm
oood
oo
A B B1 D E EE EF F FB H h J K

0o
@32 22 ¢ 24 17 10 |O44 | Rchs 47 10 ®7 30 6 38 25
¢ 40 24 ¢ 30 19 13 |O050 | Rcha 52 10 07 30 7 38 25
¢ 50 32 ¢34 22 19 |062 | Rcha 65 10 99 30 10 38 25
¢ 63 32 ¢34 22 19 |O076 | Rcis 76 10 99 33 10 38 25
¢ 80 40 ¢ 39 27 22 |094 | Rcis 95 16 @12 31 12 45 32
¢ 100 40 ¢ 39 27 22 |0 114 | Rch2 | 115 16 @12 31 12 45 32
¢ 125 54 ¢ 46 36 27 |0138 | Rch2 | 138 16 ¢ 14 37 16 45 32
¢ 140 72 ¢ 55 50 36 |0 156 | Rc34 | 156 20 ¢ 18 43 20 50 38
¢ 160 72 ¢ 55 50 36 | 0178 | Rc34 | 178 20 ¢ 18 43 20 50 38
¢ 180 72 ¢ 55 50 36 | D200 | Rcd4 | 200 20 ¢ 18 43 20 50 38
¢ 200 72 ¢ 55 50 36 | 0216 | Rcd4 | 216 20 18 43 20 50 38
¢ 250 84 ¢ 60 60 41 |0270 |Rc 1 | 270 25 @22 55 22 57 50

oo

.- KK LF LL MM [ R TF UF WF YP ZF
¢ 32 M10x 1.25 103 ¢ 12 58 33 58 72 15 O O 128
¢ 40 M12x 1.25 | 103 ¢ 16 58 36 70 84 15 u] u] 128
¢ 50 M16x 1.5 103 ¢ 22 58 47 86 | 104 15 n] u] 128
¢ 63 M16x 1.5 106 ¢ 22 61 56 98 | 116 15 u] u] 131
¢ 80 M20x 1.5 124 ¢ 25 67 70 119 | 143 19 u] ) 159
¢ 100 M20x 1.5 124 ¢ 25 67 84 138 | 162 19 u] u] 159
¢ 125 M27 x 2 O 114 | ¢ 32 73 104 | O 168 196 35 27 165
¢ 140 M36x 2 u] 131 | ¢ 40 85 | 123 | O 190 | 226 41 29 192
¢ 160 M36x 2 n] 131 | ¢ 40 85 | 134 | O 212 | 248 41 29 192
¢ 180 M36x 2 ] 131 | ¢ 40 85 | 156 | O 234 | 270 41 29 192
¢ 200 M36x 2 u] 131 | ¢ 40 85 | 163 | O 250 | 286 41 29 192
® 250 M42x 2 u] 162 | @ 45| 109 | 201 | O 312 | 356 48 30 235

LLoooooo

000mm
10H-201 FB[OO]N[OOOOO
e 320 ¢ 100
B [ ; c¢
ZFOO0000
A FP POOOOOD )
h 20EE ooz
40FB
@ o ¢f
MM| ﬁ ﬁ ® D R|EF
Q:i{\ /}&;ﬂ
{ e &
0ooo
F J HOOOOOO K |
LFOOOoogog
®p 1250 ¢ 250
B % % D1
ZFODDO00
A YP. POOOOOD
_h_ 20EE nos
40FB
i
- (e )
[ A A £
RE|MM ® D R|EF
[ *%K /ﬁﬂ 5
noooo | D
0ooooo D 1-O- (&)
000B1 N— /
oooog
J HOODOOOO K

Ooooooooog



346

CA

10H-2

gooobogooo

O000mm

goooogooo

10H-2

O00mm
oog
oo

. A | B | B cD D | E | EE| EW F|FP | H | h [ J]|K KK
932 22 | Q24| 17 | @12H9 | 10 D44 |RcHs| 1650 | 10 | 34 | 30 | 6 | 38 | 25 | M10x 1.25
@ 40 24 | @30 | 19 | @14H9 | 13 |050 |RcH4| 2070 ., | 10 | 34 | 30 | 7 | 38 | 25 | M12x 1.25
¢ 50 32 | @34| 22 | @14H9 | 19 |0 62 |RcHa| 2000 ., | 10 | 34 | 30 | 10 | 38 | 25 | M16x 15
¢ 63 32 | @34| 22 | @14H9 | 19 |O76 |Rcis| 2070, | 10 | 34 | 33 | 10 | 38 | 25 | M16x 15
¢ 80 40 |@39| 27 | 920H9 | 22 |094 |Rc¥s| 3235 | 16 | 43 | 31 | 12 | 45 | 32 | M20x 15
©100 | 40 | 39| 27 |@20H9 | 22 |O114|Rchz| 3209 | 16 | 43 | 31 | 12 | 45 | 32 | M20x 15
9125 | 54 | @46 | 36 | 920H9 | 27 |0138|Rehi2| 3200, | O | O | 37 | 16 | 45 | 32 | M27x 2
©140 | 72 | 55| 50 | @28H9 | 36 |O156|Rc¥4| 4000, | O | O | 43 | 20 | 50 | 38 | M36x 2
©160 | 72 | 55| 50 | @28H9 | 36 |O178/Rc¥4| 4050, | O | O | 43 | 20 | 50 | 38 | M36x 2
©180 | 72 |@55| 50 | 928H9 | 36 |0 200|Rc¥a| 4050, | O | O | 43 | 20 | 50 | 38 | M36x 2
©200 | 72 | 55| 50 | @28H9 | 36 |O216(Rc¥4| 4050, | O | O | 43 | 20 | 50 | 38 | M36x 2
©250 | 84 | 60| 60 | @36HY | 41 |D270|Rc 1| 5070, | O | O | 55 | 22 | 57 | 50 | M42x 2

oo L LR XC zc
MM | MR | P |RE | T | VF | W | WF YP 2|z

oo CAO|ccO|cAO|ccO CAO|ccO CAOccO
932 0|0 |R7| O |9p12(R14| 58| 0 | 8 |0 |15 | O |187| O | O |149| O |118 |126
@ 40 0|0 |R17| O |9p16/R16| 58| O | 8 | O |15 | O [137 | O | O [151| O |118|126
¢ 50 0O |0 |R19| O |922/R16| 58| O |10 | O |15 | O [137 | O | O [151| O |118 128
963 0O |0 |R9| O |g22/R16| 61| 0 |13 | O |15 | O [140| O | O [154| O |121|134
¢ 80 0O |0 |R6| 0 |925/R22| 67| 0 |18 | O |19 | O [175| O | O [195| O |143 | 161
@100 | O | O |R27| O |@25|R22| 67| 0 |18 | O |19 | O [175| O | O [195| O |143 161
@125 | 32 | 36 |R22|R26 | 32| R22 | 73 |0 65 14 | 21 | O | 35 | 181|199 | 27 | 201 | 219 | 149 | 163
©140 | 38 | 44 | R30 | R32 |¢ 40| R30 | 85 |0 76| 20 | 25 | O | 41 | 210|236 | 29 | 238 | 264 | 172 | 192
©160 | 38 | 44 | R30 | R32 | 40| R30 | 85 |0 76| 20 | 25 | O | 41 | 210|236 | 29 | 238 | 264 | 172 | 192
©180 | 38 | 44 | R30 | R32 |¢ 40| R30 | 85 |0 76 25 | 25 | O | 41 | 210|241 | 29 | 238 | 269 | 172 | 197
©200 | 38 | 44 |R30 |R32|¢ 40| R30 | 85 |0 76 25 | 25 | O | 41 | 210|241 | 29 | 238 | 269 | 172 | 197
@250 | 54 | 58 | R42 | R46 |¢ 45 R42 | 109 [0 90| 30 | 30 | O | 48 | 264|298 | 30 | 300 | 334 | 210 | 240

e
10H-201 CA[DO|N[DOO0OOO
i
s OO o
e 320 ¢ 100
ZLoooooo
2000000
A W _FP pPOOOOOO .
Lh_ 20EE
LR
Il
i L {4, cp
S S
MM1 |
0oooo - )M\/ MR L=
pooooo
000B1 ©
KK F J HOOOOOO K T‘ oov E
B xcoogoog
O zcoooooao |
5 1
O
0 o o
0 eg1250¢ 250 Se2in
O i 2000000
A _|WF YP POOOOODO
h_| VH 20EE
T A 07 T’k LR
R cD
REMN@ & o)
7 ~ )2 MR
ooooo 1= =4
pooooo
000B1 ©
0ooo IEW|
S J HOOOOooo K| L DDB‘ E
xcoooooo
zcoooooo
10H-201 CCl0O|N[00000 |
S COE
e 1250 ¢ 250 S
7 Z000000
2ooooog
A WE YP pOOOOO0OO
h_| VA 20EE
A 7
REMN@ @
i A
ooooo
oooooo =
0o00B1
oooo
KK J HOOOOOO
xcoooooo
zcooooogo

347

oooooooog



348

10H-2

goooooon

O000mm
ooo
oo

. A | B |B |CD |CP|D|E |EE| EW | F |FP|H | h|J|K KK
932 22 |@24| 17 |@12%3 | 46 | 10 |044 |Rchs| 16,07 | 10 | 34 | 30 | 6 | 38 | 25 |M10x 1.25
¢ 40 24 |@30| 19 |@14% | 58 | 13 |050 |Rcha| 200%7 | 10 | 34 | 30 | 7 | 38 | 25 |M12x 1.25
¢ 50 32 |@34| 22 |@14" | 66 | 19 |062 |Rcha| 20007 | 10 | 34 | 30 | 10 | 38 | 25 |M16x 15
963 32 |@34| 22 |@14" | 66 | 19 |076 |Rc¥s| 20007 | 10 | 34 | 33 | 10 | 38 | 25 |M16x 15
¢ 80 40 |@39| 27 @204 | 78 | 22 |D94 |Rc¥s| 32557 | 16 | 43 | 31 | 12 | 45 | 32 |M20x 15
©100 | 40 |@39| 27 |@20%2 | 78 | 22 |0 114{Rch2| 32337 | 16 | 43 | 31 | 12 | 45 | 32 |M20x 15
125 | 54 |@46| 36 (@204 | 78 | 27 |0138/Rchi2| 32707 | O 0 37 | 16 | 45 | 32 |M27x 2
©140 | 72 |@55| 50 (@284 | 97 | 36 |0 156|Rc34| 400°% | O | O | 43 | 20 | 50 | 38 |M36x 2
160 | 72 |@55| 50 |@28% | 97 | 36 |0 178/Rc¥4| 400°% | O | O | 43 | 20 | 50 | 38 |M36x 2
180 | 72 |55| 50 (@28 | 97 | 36 |J200|Rcd4| 400°% | O | O | 43 | 20 | 50 | 38 |M36x 2
®200 | 72 |@55| 50 |@28 | 97 | 36 |0 216(Rc¥4| 4000% | O | O | 43 | 20 | 50 | 38 |M36x 2
250 | 84 |960| 60 |@36% | 117 | 41 |D270|Rc 1| 50,08 | O | O | 55 | 22 | 57 | 50 |M42x 2

oo L XC e
LR [MM |MR | P |RE| T |UB | VF | W |WF YP FAR YA

oo BO|CDO cBO|CDO cBO|CDO
932 0 | 0O |R18|@ 12|R15| 58 | O 8| 8|0 |15 |0 (187 |0 | 0O |150| O |[118 126
@ 40 0O |0 |RI8B|l916/R15| 58| O | 8 | 44| O |15 | O (137 | O | O [150| O |118|126
¢ 50 0 | 0O |R19|@ 22|R17| 58| O 8| 52| 0 |15 |0 (187 | 0 | 0O |152| O [118 126
¢ 63 0O |0 |RI9|@22/R17| 61| O | 8 | 52| 0 |15 | O [140| O | O [155| O |121 (129
9 80 O |0 |R32|@25\R23| 67| 0 |11 | 64| 0 |19 | O [175| 0 | O [196| O |143|154
100 | O | O |R32[p25/R23| 67| O |11 | 64| 0 |19 | O [175| 0 | O |19 | O |143 | 154
@125 | 32 | 36 |R26 | 32|R22| 73 |0 65| 14 | 64 | 21 | O | 35 | 181|199 | 27 | 201 | 219 | 149 | 163
©140 | 38 | 44 | R32|p 40| R30 | 85 |0 76| 20 | 80| 25 | O | 41 |210 (236 | 29 | 238 | 264 | 172 | 192
©160 | 38 | 44 |R32|p 40| R30 | 85 |0 76| 20 | 80| 25 | O | 41 | 210|236 | 29 | 238 | 264 | 172 | 192
©180 | 38 | 44 | R32|p 40| R30 | 85 |0 76| 25 | 80| 25 | O | 41 | 210|241 | 29 | 238|269 | 172 | 197
©200 | 38 | 44 |R32|p 40| R30 | 85 |0 76| 25 | 80| 25 | O | 41 (210|241 | 29 | 238|269 | 172 | 197
©250 | 54 | 58 | R46 | 45| R42 | 109 |0 90| 30 [ 100 | 30 | O | 48 | 264 | 298 | 30 | 300 | 334 | 210 | 240

ogoooooood 0oomm
S
10H-201 CB[OO|N[DOOOO T
®p 320 ¢ 100 B @ﬁjﬁ
2000000
2000000
A FP POOOOOO
Lh_ 20EE cD
LR A
i H fein) o 1T ¢
wi {5 @ )@ st =0
ooooo MR > 711 ©
oooooo — P
- 000B1 oooo LEM’)
o KK FlL HOOODOO KT uB
] xcoogooo 0od1o E
B zcoOoooOoo |
O J_(J
E B A o|
0 ¢ 12509250 Soluas
0 a
2000000
WF_YP pPOOOOOO gos8_ E
i | VB 20EE cp
A
A 7 [ = 7
= o
REMM] & o) B D
antlI LN e @%‘[ﬂ%ﬂ
noooo
oooooo h = ) @
000B ©
ooog EW
KK J HOOODOO KL us
xcoogooo
zZzcoooood |
10H-201 CD[OO]N[DO0OO |
= gul
B HE o}
®¢ 1250 ¢ 250 I ==
i z000000
2J0ooogo
WE_YP, pOOOOOO gos E
h_ | VE 20EE cp
A
A7 K| LR N
JF o B I o
REMN¢ = ) @) ®1
£ PR, T
noooo 2 GAEREERS
oooooo
0oosL ©
nooo JEw
KK J HOOOOOoad KT L uB
Xxc000000
zcoooooo

O0LROOODODOODODOOOOOOO

Ooooooooog



oooooooog

10H-201 TA[DOJN

® 320 ¢ 100

oooobogoboo

000mm

fe
—
| COr
Egmiiy
ZB00OOOO0O
2000000
A W, _ FP POOOOOD
~h_ 20EE
A
R I { H
hrfom oo j
\\j! ooooao p:
© oooooo A ;
0o, ”-@“ 000B1 :
L ™ T KK nooo
um J HOOOODO K BB
XG
® 1250 ¢ 250
_
s
B @ 01
L(_}_MH_‘
i zB00DOD0
2000000
A | WF_vp POOODOD
RE h_ | VE| 20EE
®
) —
7an JEEE Y &
E[TD 0) ®-+ MM
Lok 2810 b
R N\ 000B1
KK
nos a T@,?A | oooo
oM J HOOOOOO K | |BB
XG

eTADOODDDODODDDODODDODOODDOOOGOOOOOO

goooooon

O00mm
god
0o
A B B1 BB D E EE F FP H h J K KK

0o
@32 22 ®24 17 7 10 |O44 | Rchs| 10 34 30 6 38 25 |M10x 1.25
@ 40 24 | @30 19 7 13 |O50 | Rcha | 10 34 30 7 38 25 |M12x 1.25
¢ 50 32 ¢34 22 7 19 |062 | RcHsa| 10 34 30 10 38 25 |M16x 1.5
@ 63 32 ® 34 22 9 19 |O76 | Rc3le| 10 34 33 10 38 25 |M16x 1.5
@ 80 40 ® 39 27 10 22 |09 | Rc¥s| 16 43 31 12 45 32 |M20x 1.5
¢ 100 40 @39 27 10 22 | 0114 | Rch2 | 16 43 il 12 45 32 |M20x 1.5
@ 125 54 | @46 36 13 27 |0138| Rclz | O 0 37 16 45 32 |M27x 2
@ 140 72 @ 55 50 16 36 |0156| Rc3l4| O u} 43 20 50 38 |M36x 2
¢ 160 72 @55 50 16 36 | 0178 Rc¥a| O 0 43 20 50 38 |M36x 2
@ 180 72 ® 55 50 16 36 |0200| Rc34a| O m] 43 20 50 38 |M36x 2
@ 200 72 @55 50 16 36 |0216| Rc34| O u] 43 20 50 38 |M36x 2
@ 250 84 | @60 60 19 41 |0270| Rc 1 u} O 55 22 57 50 |M42x 2

oo

- MM [ RE TD TL ™ TR um VF w WF | XG YP zB VA
@ 32 @ 12 58 0 @ 16e9 16 44 | R1 76 O 15 O 44 O 125 118
@ 40 ¢ 16 58 0 |@25e9 | 25 50 | R1.6 | 100 u} 15 ] 44 u] 125 | 118
@ 50 @ 22 58 0O |@25e9| 25 63 | R1.6 | 113 0 15 n] 44 n] 125 | 118
¢ 63 @ 22 61 O |@25e9 | 25 76 | R1.6 | 126 u] 15 0 44 u} 130 | 121
¢ 80 @ 25 67 0 |@25e9| 25 95 | R1.6 | 145 0 19 u] 57 n] 153 | 143
®100 | 25 67 0O |@25e9 | 25 114 | R2 164 0 19 u] 57 O 153 | 143
@ 125 @ 32 73 | O 65 | @ 25e9 25 139 | R2 189 21 O 35 57 27 162 149
® 140 | 40 85 |0 76 | 36e9 | 36 156 | R2.5 | 228 25 u] 41 66 29 188 | 172
@160 | 40 85 |0 76 |@36e9| 36 178 | R25 | 250 25 n] 41 66 29 188 | 172
© 180 |@ 40 85 |0 76 | 36e9 | 36 200 | R255 | 272 25 0 41 66 29 188 | 172
®200 | 40 85 |0 76 | 36e9| 36 216 | R25 | 288 25 u] 41 66 29 188 | 172
®250 | @ 45 | 109 | O 90 (@ 45e9 | 45 270 | R3 360 30 n] 48 76 30 229 | 210

Ooooooooog



oooooooog

10H-201 TC[IOJN

oooobogoboo

000mm

° 320 ¢ 100
.5
B DI
78000000
2000000
A |w_ Fp POOOOOD
E ooz h 20EE 8D
®
N P ‘ R
wie] [ (7N e | Wl (0 2 M A
{ o @t =4 N/ o
©) ® ooooo 4 | |
N ..
©
TL ™ L KK oooo
UM FlL HOOOOOO K | |B8B
XI01/2000000PH
e 1250¢ 250
|
s — 0 DI
]
ZzBOoOooooo .
z0o0o0o0od
E 008 A WF_,_YP. pOOOOOO
RE h | VE| 20EE 8D
®
(1 B 1 ]
Lfel e e
2 7N
uw|TD © 8@t MM «B: @774 F*iﬁi
[ -+ B¢ (o)
©77© ooooo
o | o o/ | §-pe—al—4p
KK
©
L ™ T oDooo
um J HODODOO K| |BB

XIO12000000PH

goooooon

O00mm
god
0o

0o A B B1 BB | BD D E EE F FP H h J K KK MM
¢ 32 22 |@24| 17 7 30 10 |0 44 |Rchs| 10 34 30 6 38 25 | M10x 1.25 | 12
¢ 40 24 |@30| 19 7 30 13 |[050 |RcH4| 10 34 30 7 38 25 | M12x 1.25 |¢ 16
¢ 50 32 |34 | 22 7 30 19 |062 |Rcha| 10 34 30 10 38 25 | M16x 1.5 | 22
¢ 63 32 |@34| 22 9 30 19 (076 |Rc3g| 10 34 33 10 38 25 | M16x 1.5 | 22
¢ 80 40 @39 | 27 10 35 22 |094 |Rc38| 16 43 31 12 45 32 | M20x 1.5 |9 25
¢ 100 40 |@39 | 27 10 40 22 |0114|RcH2| 16 43 31 12 45 32 | M20x 1.5 | 25
¢ 125 54 |@46 | 36 13 43 27 |0 138|Rch2| O n] 37 16 45 32 | M27x 2 ¢ 32
¢ 140 72 |@55 | 50 16 53 36 |O156|Rc34| O ] 43 20 50 38 | M36x 2 ¢ 40
¢ 160 72 @55 | 50 16 53 36 |0178|Rc34| O u] 43 20 50 38 | M36x 2 ¢ 40
¢ 180 72 |@55 | 50 16 53 36 |0 200|Rc¥4| O ] 43 20 50 38 | M36x 2 ¢ 40
¢ 200 72 |55 | 50 16 53 36 |O216|/Rc34| O u] 43 20 50 38 | M36x 2 ¢ 40
¢ 250 84 |60 | 60 19 58 41 |0270|Rc 1| O ] 55 22 57 50 | M42x 2 ¢ 45

o P e RE TD TL [ TM | TR | UM | UW | VF | W | WF | XI YP | zB | ZJ

0o PH |00000
@32 58 78 3 O |p16e9| 16 55 |R1 87 52 O 15 O 78 O 125 | 118
¢® 40 58 78 3 O |p25e9| 25 63 |[R16| 113 | 59 | O 15 u] 78 u] 125 | 118
¢ 50 58 78 3 0 |p25e9| 25 76 |R1.6 | 126 71| O 15 n] 78 n] 125 | 118
¢ 63 61 78 0 O |p25e9| 25 88 |R16| 138 | 86 | O 15 O 79.5| O 130 | 121
¢ 80 67 98 7 0 |@25e9| 25 | 114 |R1.6| 164 | 104 | O 19 n] 955| O 153 | 143
¢ 100 67 | 100 | 12 O |p25e9| 25 | 132 |R2 182 | 128 | O 19 O 955| O 153 | 143
¢ 125 73 | 102 9 |O 65| 25e9| 25 158 | R2 208 | 158 21 O 35 98.5| 27 162 | 149
¢ 140 85 | 119 | 13 |0 76 (p 36e9| 36 | 183 | R2.5| 255 | 183 | 25 u] 41 |1125| 29 | 188 | 172
¢ 160 85 | 119 | 13 |0 76 |p 36e9| 36 | 200 | R2.5| 272 | 200 | 25 0 41 |1125| 29 | 188 | 172
¢ 180 85 | 119 | 13 |0 76 (p 36e9| 36 | 228 | R2.5| 300 | 228 | 25 0 41 |1125| 29 | 188 | 172
¢ 200 85 | 119 | 13 |0 76 |p 36e9| 36 | 246 | R2.5| 318 | 246 | 25 n] 41 |1125| 29 | 188 | 172
® 250 | 109 | 134 6 |0 90 |p45e9| 45 | 304 |R3 394 | 304 | 30 0 48 |132.5| 30 | 229 | 210

Ooooooooog



oooooooog

oooooo

® ¢ 320 ¢ 100

ooooooooo

poooooo

@ 320 ¢ 63
13000000X

oooobogoboo

e 1250 ¢ 250

|
T[T -
- o | [

ooooooooa

oooooo
¢ 800 ¢ 100 [:| @ 1250 ¢ 250

1/4000000X

v4a000000X

A w A WF
oooooog Uooooo
¢ 320 ¢ 63
125000000X ¢ 1250 ¢ 250
¢ 800 @ 100 13000000X

13000000X

ooooo

ooooo

gooo |(oOoooooooo

oooooo oooooo

0ooo 8001

1300 2000

OOedD000OO0O0OOOOOOOOOOOOODOO
g0o000b0OO00O0OO00O000OO0O0ODOOO0O0D
O0edD0O00OO0O0OOOOOOOOOOOOODO
O0ed000000DOOOODOODOOOOODOOODODOO
OOedD000OO0O0OOO0OOOOOOOOOOOOODO
O0eWwFOOOOODOOOODOOOODOOFAOODOODOODOODOO
O0ed0d0O0O0ODDOODOOE320¢ 1000 000000000000 000O0OO
goo0oooOooOO0O0ooOOoOoboOooOOoa

gooooooo

000mm O00mm
ooooobo
ooo
0o Ww
A X ODoooooooo

oo [B]s[s]s]s]s] oooooao
¢ 32 22 50 ¢ 36 ¢ 61
@ 40 24 50 ¢ 40 ¢ 61
¢ 50 32 55 ¢ 45 ¢ 61
@ 63 32 55 ¢ 45 ¢ 61
¢ 80 40 65 ¢ 60 @61
¢ 100 40 65 ¢ 60 ¢ 61
¢ 125 54 71 @71 @71
¢ 140 72 75 ¢ 80 ¢ 80
¢ 160 72 75 ¢ 80 ¢ 80
¢ 180 72 75 ¢ 80 ¢ 80
¢ 200 72 75 ¢ 80 ¢ 80
@ 250 84 80 ¢ 80 ¢ 80

oooo

10000msomoooo

e 320 ¢ 100

00001000000s0000000

10H-2

- 88 gpoo CA | CD | CF | CM | CN | DK | ED | GW | KK | TA | TV | TW
032 RSA-10-A | 43 |@10H9| @19 | 13 56 | @12.9| 26 | 1470, |M0x125| 21 |105:01] 17
9 40 RSA-12-A | 50 |p12H9| @22 | 15 65 |@154| 30 | 1600, |Mix125| 24 |12 £01] 19
950 Roatea |84 |ol6H9| @27 | 19 83 |@194| 38 21§ §'1 MIGx15 | 33 |15 :01| 22
063 64 |p16H9| @27 | 19 83 |@19.4| 38 | 210, |MI6x15| 33 |15 01| 22
9 80 Rsaz0a |77 |®20H9| @34 | 23 | 100 |g244| 45 25§ §'1 M0x15 | 40 |18 +01] 30
9 100 77 |@20H9| ¢34 | 23 | 100 |@24.4| 46 | 2555, [MOx15| 40 |18 01| 30

355

Ooooooooog



oooooooog

oooo

10000mMmTOO
® 320 ¢ 100

ER

oooobogoboo

000mm

RA

e 1250 ¢ 250

CF|

O00mm

goooooon

gobooi1ogooooTOoO

cc
ER CA
cc A oo
e |
EwW ~F o plooo \
L EW| —fF+——-
KK 1
20000@myom oo
®p 3209 100 e 1250 ¢ 250
ER RA
D000
-— - bplooo
cA
cc A
[un)
cw ;F CP|CT CF
cP|CT| |EW -1
| = KK
cw I K
cc
FOOOOMMFODO
°p 32 ®(p 40009 160
0o0B: K
oooooo
000B: KK
0ooo
eys
DDDe:*?D =3
KK/
E
A _||lFQ
FA FC FD
FJ FJ

eFO000OOOCOOOODOODODOOODODOODOOODODDODDODODODOO
gooo0omooooOo0oooooob0i10200000000000O
oo0oooo0ooomooo0oo0ooooooooooooooo

eCACBOCCOCDOTAOTCOOOOODOOOOODOO

oo
a0 oooo A CA cc cD CF D ER EW J KK RA
932 RTA-10-A 23 55 20 |[@12H9| @24 24 R12 | 1653, | — |M10x125 67
® 40 RTA-12-A | 25 60 20 |@14H9 | ¢ 24 24 R12 | 2030, | — |mix125 72

50 .

"’T RTA-16-A 33 60 20 |@14H9| @28 27 R14 | 20.9,| — |M16x15| 74
P .
¢ 80 :0

—— RTA-20-A a1 85 30 |[@20H9| @36 36 R19 | 32.3,| — |[M0x15| 104
® 100 0
9125 | RTA-27-A 51 100 32 |[@20H9 | @49 — 20 | 32.0,| 13 |M2rx2 120
¢ 140
¢ 160 0o

o150 ] RTA-36-A 69 125 33 |@28HY| @62 — 28 | 4000, | 18 |M36x2 153
9
® 200
9250 | RTA-42-A 81 144 48 |@36HI| @79 — 36 | 500.| 20 |M42x2 180

g0oo02000000vY00000O

oo
a0 oooo A |CA|lcc| cD |CF|CP|CT|CW| D | ER | EW KK RA
®32 | RYA-10-1-A| 23 55 | 20 |@12%%| @24 | 46 | 32 8 | 24 |R12 | 167} |M10x 1.25| 67
©40 | RYA-12-1-A| 25 60 | 20 |p14%3| @24 | 58 | 44 | 12 | 24 |R12 | 2002%|M12x 1.25| 72
¢ 50 Ho 015

e | RYA-16-A | 33 60 |18 |p14%%| @28 | 58 | 44 | 12 | 27 |R14 | 20013 | M16x 15 | 74
P ‘

(p 80 H9 015

o100 ] RYA20-A | 41 85 | 28 |p20%%| 36| 78 | 64 | 16 | 36 |R19 |32[+3|M20x 1.5 |104
9
®125 | RYA27-A | 56 | 100 | 35 |p20%%| @40 | 78 | 64 | 16 | 40 |R20 |32002|M27x2 |120
® 140
¢ 160 HY 015

o150 | RYA-36-A | 74 | 125 | 365 |9 2843 @55 | 97 | 80 | 20 | 55 |R27.5| 407 |M36x2 |1525
9
® 200
©250 | RYA42-A | 86 | 144 | 49 |9 3642 @70 | 117 | 100 | 25 | 65 |R35 | 50000 |M42x2 | 179

JO000OFOOOODOOOFOO

oo
oooo A | Bi | B2 | e | FA|FC |FD | Fl | FK |FM | FN | FQ | FR KK
oo
32 | RFS-10T 245 | 17 | 10 | 1 31 |28 4 | 63 |11 |@25| 24 | 45| 25 |M10x 1.25
©40 | RFS-12T |24 19 | 13 | 1 33 (255 | 11 | 695|135 |9 32 |0 19 35 |Mi12x 1.25
50163 | RFS-16T 32 22 | 17 | 15 | 43 |33 13 | 89 |16 |@40 |O024| 8 |4 [M16x 15
© 80 | RFS-20T080 | 40 27 | 22 | 2 53 |42 15 (110 |22 |¢50 [O030| 9 |5 |M20x15
© 100 | RFS-20T100 | 40 27 | 24 | 25 | 56 |49 18 (123 |24 |¢64 |036 |12 |6 |M20x 15
¢ 125 | RFS-27T |54 3 | 32 |25 | 74 |62 21 |157 |30 |@76 046 |14 |7 |M27x2
(9140160 | RFS-36T 72 50 | 36 |3 96 |80 23 (199 |36 |@88 |055|18 |8 [M36x2

Ooooooooog



oooooooog

oooobogoboo

000mm
goooo
cBOocCboooood
e 320¢ 100 e 1250 ¢ 250
_ ‘ 0o00m @ 8 oo
T . oy m
K ; 3 4018 DLM BHI
- @ $
il BT!
K Kp| | _BF | [soBLl | xm | |BL
KD/ KC wM

eJ000OOOOCBOCDOOOOOOOOOO

TAOOOOOO
®p 3209 100

e 1250 ¢ 250

o

M um
noo too
A = o y
o TerF 78 R T
& oleE [\ 1 e ,;GHIGE .
Al TS el
o7 Tt oos Gt 0oom
‘ L ‘ 4GB [ 0000 H ‘ \40GB ‘
ool ™™ e Gol | oL co GRll ™ |6 co | GL Jl60
oM oK GM GK

efjO0000COCOOOTADOOOOOOOOO

w

TCOOOoooo
®p 3209 100

uw

o]

eJ0000DOOOOTCOOODOOOODODOO

e 1250 ¢ 250

uw

um
E nos
I e~ ol 1B\ o
FIASA - © J L ©
[ GH e — b
1\ 7 ﬁ;_ﬂ—r"’ ;"""r\\_ﬂ
‘ ‘ GT! ooom
coll| ™ lop~4icB Gol | oL |leo

GM GK

O00mm

goooooon

goooceiCcboooonon

oo
oooo BF BH BL BO BT KC KD KG KO LB | WM | XM

oag

932 | BCA-12-A 40 35 | 10 10 8 60 5 55 5 | ¢9 85 65
¢ 40

@50 | BCA-14-A 40 45 | 125 | 15 8 70 | 10 65 5 | @11 | 105 80
¢ 63

¢ 80
700 ] BCA-20-A 65 60 | 15 15 12 95 5 85 10 | @14 | 135 | 105
¢

¢ 125 | BCA-20-1-A| 77 75 | 175 | 175 | 14 12 | 175 | — — | @18 | 145 | 110
¢ 140

¢ 160
o180 ] BCA-28-A | 120 | 115 | 225 | 225 | 23 165 | 225 | — — | @22 | 175 | 130
¢

© 200

@250 | BCA-36-A | 165 | 140 | 25 25 28 215 | 25 — — | @26 | 220 | 170
oooOoTAOTCOO0000

oo GM ™ UM
0oooo E |GB|GD |GE |GH | GK | GL GO | GT uw

oo TAO [TCO TAO |TCO |TAO |TCO
@32 |BTA-16-A |D044 |99 | 15 | 56| 40| 80| 60| 59| 78|10 | 12 |9167%| 44| 55| 76| 87| 52
¢ 40 050 73| 86 50 | 63100 |113| 59
950 | BTA-25-A |062 |9 12| 23 | 72| 50 |110| 80| 86| 99|15 | 12 |¢257%| 63| 76| 113|126 | 71
¢ 63 076 99 | 111 76 | 88126138 | 86
¢ 80 094 118 | 137 wo | 95| 114 | 145 | 164 | 104
————— BTA-25-1-A——¢ 14| 23 | 92| 70120 | 85 17.5| 14 |¢25¢y

¢ 100 0114 137 | 155 114 | 132 | 164 | 182 | 128
9125 | BTA-25-2-A |0138/¢ 18| 25 | 115 | 85| 145|105 | 164 | 183 |20 | 25 |¢257%| 139 | 158 | 189 | 208 | 158
¢ 140 0 156 192 | 219 156 | 183 | 228 | 255 | 183
¢ 160 0178 214 | 236 4o | 178 | 200 | 250 | 272 | 200
————— BTA-36-A 22| 36 | 170 | 130 | 185 | 140 225 25 |9365,

¢ 180 0200 236 | 264 200 | 228 | 272 | 300 | 228
¢ 200 0216 252 | 282 216 | 246 | 288 | 318 | 246
@250 | BTA-45-A |0270|@ 26| 45 | 210 | 160 | 215 | 165 | 315 | 349 |25 | 32 |¢45%e| 270 | 304 | 360 | 394 | 304

Ooooooooog



oooobogoboo

gooooooo

10H-2 " ~

ooooooooooo oood
No. ooo ooo oo
e0le 320963 00000000009 3209160000000
o 0ooooooo 1
000000918009 2500 0000000000
) 00000e 320 630 oooooooooo 1
2 0 DOOOORD © POOO ®ODD () 00000 800 @ 2500 ooooooo0ooo 1
5] oooooo oooo 0158800

\I / \ (6] goooooooooon oooooo 1

o g ﬂ [ o ooooooo 000000000 1

b (5] ooooooo 0oooooooooo 1

| ® I 00000000000 320¢ 1000 L

L >/ 0000000000 1250 @ 2500
= ® I 00000000000 320 @ 1000 L
0000000000 1250 2500
. @® 0ooo oooooo 1 L

o ® ooooooooo 0DOoO000DOoo 1 g
0 ® ooo oooooooooo 1 0
o ® ooooooooooooo 000O000000oo 4 o
B «00¢ 80 ® oooo ooooooooo 2 B
0 1) goooo oooooooooo 4 ul
o 066060 @ oooooooo 0oooooooo 8 0

® ooooooooooo 0oooooooo 1

®000000000000000

e 0¢ 1250 ¢ 250

%




oooooooog

gooobogooo

goooooo
No. ooo ooo oo oooo
¢ 32 @ 40 @ 50 @ 63 @ 80 @ 100
O |00000000 |000000]| 2 UHP-32 | UHP-40 | UHP-50 | UHP-63 | UHP-80A | UHP-100A
® |0oooo oooooo | 2 TX-32 TX-40 TX-50 TX-63 TX-80 TX-100
® |0Doooooo oooooo | 1 UHR-12 | UHR-16 | UHR-22 | UHR-22 | UHR-25 | UHR-25
® |oooooo oooooo | 1 DA-12 DA-16 DA-22 DA-22 DA-25 DA-25
® |00000000000000 [O0OOODO| 1 S-25 S-30 S-38 s-38 G-45 G-45
@® |0000o 00oooonoo| 2 DS-1-6 DS-1-6 DS-1-6 DS-1-8 DS-1-8 DS-1-8
E E 0oooooo _ |ynpp| AH2IPKS | AH2IPKS | AH2IPKS | AH2IPKS | AH2IPKS | AH2IPKS
E O |oooo -032 -040 -050 -063 -080 -100
No. ooo ooo oo oo
¢ 125 ¢ 140 © 160 ® 180 ¢ 200 © 250
O |00000000 |000000| 2 |UHP-125A | UHP-140 | UHP-160 | UHP-180 | UHP-200A | UHP-250
® |ooooo oooooo | 2 TX-125 TO-140 TO-160 | TO-180 | TO-200 | TO-250
® |0oooooo oooooo | 1 UHR-32 | UHR-40 | UHR-40 | UHR-40 | UHR-40 | UHR-45A
® |0ooooo oooooo | 1 DA-32 DA-40 DA-40 DA-40 DA-40 DA-45
® |00000000000000 |[O0OOODO| 1 G-45 G-55 G-55 G-55 G-55 G-60
@® |000ooo 0o0oooonoo| 2 DS-1-8 | DS-1-10 | DS-1-10 | DS-1-10 | DS-1-10 | DS-1-10
E E 0oooooo _|ynpp| AH2IPKS | AH2IPKS | AH2IPKS | AH2IPKS | AH2IPKS | AH2IPKS
E O |oooo -125 -140 -160 -180 -200 -250

Oo0edO0OO0OOOOOOOOOOOOOOOODO



	仕様
	形式記号
	外形寸法図
	関連部品
	内部構造図



